126 -49+68 = |+68

-




At A7t 2 A5H A d g 7128 24 L.

D72+6x3

O 36x3+4

© 243+ (3x9)
® 06 0 06 @ ©,0 0 ® 6,60
® O, ©, © ® ©,0, O




® 15x(28+7)

@ 12x8=+4

@ 27+9x%x15

® 15x (12 +2)

® 96+ (8x2)



4. T HolA P mA Asiof s BEL oL AU

136 — (48 + 37)

@® 136 -48 @ 136 -37 ® 136 + 37

@ 48 + 37 B 136 + 48



5. ohg Ao Ane (2, ted) & 124,

@81+3x9 ©OS81+(3x9)




s L
~0| ;o_u
o X
(=0 :
o

Eo



99+4+35+7-8




AL 2L A 6 BAS AAo] Yol AL RS Aol KU
1300g | A5, o1719] He 3Hh 4 81 o ol 2 FAE
AAEU 1800g o] T,

3 A AL g A TN,

B e g



9.

e )

@® (24+6)-2

@ 22-(12-3)

@ (31-6)+5

® 21 - (99 - 88)



10.

TF& Ao] o] HES O ke A At 152 AP A
AU

{180-9x(8+2)+16}+4 O 5x(7-4)+5=30

oo

D - ® + B = @ x ® 9



11.

S 40] AW O] +,-,x,+ F @ 7] E7} Sol7to}

9-2%x3+6 O 2=10

®© ® © 0 6
X

o 7] 7} Sol7hE SAl0] Al



12, th3oll A #21& ZFol 888 + 37 9] & FoHAl 2

111+37=3
222+37=[__|
333+37=[_ |
444+ 37 =] |

YEE
=%



13. & Bede tad 22 1A wet £o]al syt 250
g 2.

N
v @
@ @ @

@ =oErel 7] ek, A 2 571

N
mr
1o,
>
30
i~
®



14. o=& A4t 2.

14x 3+ 52+ {7—- (15— 12)}




15.

Aol 7
o X

7THE Sk

e
-

7Refl 3500 ¥ 5= T2 4 P} §F Fofl 400 Y sH= <
2| 20]7} Yof o= =2 A

Sy,



